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Формула расчета   дельта малая  (а*д)-(б*г)  
Дельта большая  ((б*г*и)+(з*е*а)+(в*д*ж))-((г*з*в)+(б*е*ж)+(а*д*и))   

* - знак умножения

Пример  

26.04.1973                                      записываем кол-во цифр в каждой ячейке
32 5 28 10

11           4          7                                       2          1         1

222         5           8                                      3          1        1

33            6          9                                       2         1         1



Дельта малая (2*1)-(3*1) < 0

Дельта большая  ((3*1*1)+(1*1*2)+(2*1*1))-((1*1*2)+(3*1*1)+(2*1*1))=0  


сочетание соответствует высшему ведающему
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